ON THI DAI HOC 63
Chon phuong an (A,B,C hoiic D)irng véi tir c6 phan nguyén am dwoc gach chin c6 cach phat 4m khac véi ba tir con
lai trong méi cau.

Cau 1.A. learng B. works C. eyes D. needs
Cau 2.A. fare B.black C.match D.calcium
Cau 3.A. creature B.feature C.neat D.creation
Cau 4.A. intend B.even C.event D.prevent
Cau 5.A.. plain B.game C.change D.chance

Chon phwong an (A,B,C hoiic D) @ng véi tir ¢6 trong 4m chinh roi vao am tiét ¢6 vi tri khac véi ba tir con lai trong
mbi cau.

Céu 6.A. material B.emission C.optical D.conjunction

Cau 7.A. stimulate B.measurement C.surgical D.already

Céu 8.A. medical B.convention C.majority D.humanity

Cau 9.A. presidential B.foundation C.confidential D.recreation

Cau 10.A. disease B.obtain C.desert D.apply

Chon phuong an ding (A,B,C hoic D) dé hoan thanh mdi ciu sau.

Céau 11. Team work or pair work is a good way to student talking time.

A.minimize B.maximize C.rise D.grow

Cau 12. To have different life experience and learning strategies, there should be a of personalities in each team.
A.amount B.few C.diversity D.various

Cau 13. As he didn’t feel well, the doctor decided not to on the patient.

A .surgery B.operate C.remove D.work

Cau 14. Grace Kelly was first famous as a Hollywood actress and then Prince Rainier of Monaco.
A. tobe the wife of B. she was the wife of  C. the wife of D. as the wife of

Cau 15. Although they played very well, they didn’t win the match because they lacked .

A. team work B. team interest C. team sport D. team spirit

Cau 16. Louis Pasteur was well-known for his of the process of pasteurisation and the development of the
vaccine for rabies.

A. growth B. discovery C. invention D. research

Céau 17. The judge decided to the thief to three months’ imprisonment.

A. sentence B. prison C. put D. imprison

Cau 18. Ton That Tung was a pioneer in liver surgery. His method considerably the time of a liver operation
from a few hours to only a few minutes.

A. decreases B. reduces C. falls D. enables

Cau 19. Although some people earn a lot of money , they are not with their lives.

A. satisfy B. pleasant C. contented D. concerned

Céau 20. We often take this small road home to avoid heavy on the main streets.

A. cars B. traffic C. vehicles D. movement

Céu 21. When he came to the counter to pay, he found that he had cash his credit card with him.
A. either / or B. neither /nor C. both /and D. not / neither

Cau 22. All of the senses must pass through intermediate gateways to be processed before they are registered in
the brain.

A. but smell B. until smell C. to smell D. for smell

Cau 23. Her mother a book until she was twenty.

A. was never reading B. has never read C. never reads D. never read

Céau 24. You look tired. hard all day ?

A. Have you been working B. Did you work C. Do you work D. are you working

Cau 25. Tim looks so frightened and upset. He something terrible.

A. must experience B. can have experienced

C. should have experienced D. must have experienced

Cau 26. The tourists on the beach when a big wave swept ashore, carrying everything to the sea.
A. were sunbathing B. are sunbathing C. had been sunbathed D. sunbathed

Céu 27. Ann was very surprised to find the door unlocked. She remembered it before she left.

A. to lock B. having locked C. to have locked D. she locks

Céau 28. Have you considered for that position of sales manager ?

A. applying B. to apply C. looking D. to look

Céau 29. The speed of light is the speed of sound.

A faster B. much faster than C. the fastest D. as fast



Cau 30. James didn’t come to see us as planned and he didn’t even phone us. He about the

appointment.

A. can have forgotten B. might have forgotten C. should have forgotten D. must forget
Cau 31. “When will we meet : at 7:30 or 8 : 00 ?°

‘I don’t mind. is convenient for me.’

A. Either time B. Neither of them C. Both time D. Neither time

Cau 32. Dry cleaning is the process clothes are cleaned in liquids other than water.

A. by B. by which C. which through D. through

Céau 33. imaginative stories about the origin of the game of chess.

A. Many of the B. Many C. There are many D. Of the many

Cau 34. Mike to persuade his parents to change their minds.

A. fails B. regrets C. admits D. remembers

Cau 35. it not been for the torrential rain, we would have gone out.

A. But B. If C. Had D. Should

Cau 36. in this national park declined from a few thousand to a few hundred in ten years.
A. The number of tigers B. That the number of tigers

C. For a number of tigers D. A number of tigers

Céau 37. The doctor advised him and to take up some sport.

A. to stop smoke B. stop smoking C. to stop smoking D. to stop to smoke

Cau 38. This math problem is too difficult for me

A. to solve it B. for solving C. to solve D. solving

Cau 39. Job specialisation takes place of production is separated into occupations.
A. whenever the work isB. when the work  C. is when the work D. whenever working

Cau 40. The population of the Earth is increasing at a tremendous rate and out of control.

A. they have become  B. are soon going to be C. soon will be D. why it will be
Poc ky doan vin sau va chon phwong 4n ding (A ,B, C hoic D ) cho méi chd tréng.
NEW HUNT FOR LIFE IN SPACE
British space scientists are planning to join the American in the race to find evidence to life on other planets. Alan Penny

and his team at the Rutherford Appleton Laboratory have ( 41 ) a telescope that is 40 times more powerful

than Hubble . (42) as ‘Darwin’ , this telescope could tell if planets 50 light years away have any kind of

life on them . Two days (43 ) NASA scientists had shown proof that one of jupiter’s moons could support life ,

Penny (44 ) that his telescope may be include in a European Space Agency mission. The Darwin project,

with a (45) of 500 million , is on a shortlist of two proposals . If approved , it will probably be ( 46 )
around 2010 , its destination somewhere between Mars and Jupiter . The blueprint is actually for five

telescopes positioned 50 meters ( 47 ) in space , slowly circling a central processing station . The combined

data from these telescopes would build up a full picture of a planet , picking out faint images that have never been seen

before . Darwin would not be able to take detailed photographs of the planets it ( 48 ) , but Penny believes a

second-generation telescope could be sent up to do this . He claims it is worthwhile mapping the universe around

Our (49) galaxy , even though these planets lie ( 50 ) our reach for the moment . The European Space

Agency will make its decision on Darwin within three years .

Céau 41. A. thought B. intended C. designed D. drawn

Céau 42. A. Known B. Called C. Considered D. Named

Cau 43. A. following B. after C. next D. later

Cau 44. A. announced B. spoke C. advertised D. told

Cau 45. A. price B. schedule C. charge D. budget

Cau 46. A. driven B. fetched C. launched D. taken

Cau 47. A. apart B. far C. distant D. away

Cau 48. A invents B. searches C. discovers D. looks

Céu 49. A. alone B. same C. one D. own

Cau 50. A out B. toward C. beyond D. over

DPoc k§ doan vin sau va chon phuwong an ding (A , B, C hoiic D ) cho mdi cau.

In this era of increased global warming and diminishing fossil fuel supplies , we must begin to put a greater
priority on harnessing alternative energy sources . Fortunately , there are a number of readily available , renewable resources
that are both cost-effective and earth-friendly . Two such resources are solar power and geothermal power.

Solar energy , which reaches the earth through sunlight , is so abundant that it could meet the needs of worldwide
energy consumption 6,000 times over . And solar energy is easily harnessed thorough the use of photovoltaic cells that
convent sunlight into electricity.In the United States alone ,more than 100,00 homes are equipped with solar electric systems



in the from of solar panels or solar roof tiles .And in other the world ,including many developing countries ,the use of solar
systems is growing steadily.

Another alternative energy source ,which is abundant in specific geographical areas ,is geothermal power ,which
creates energy by tapping heat from below the surface of the earth.Hot water and steam that are trapped in underground
pools are pumped to the surface and used to run a generator ,which produces electricity .Geothermal energy is 50,000 times
more abundant than the entire know supply of fossil fuel resoureces .And as with solar power ,the technology needed to
utilize geothermal energy is fairly simple .A prime example of effective geothermal use is in Iceland ,a region of high
geothermal acitivity ,where over 80percent of private homes are heated by geothermal power.

Solar and geothermal energy are just two of a number of promising renewable alternatives to conventional energy
sources.The time is long overdue to invest in the development and use of alternation energy on a global scale
Cau51.What is the main topic of this passage?

A.The benefits os solar ang wind power over convenrinal energy sources.

B.How energy resources are tapped from nature.

C.Two types of alternative energy sources that should be further untilized.

D.Examples of use of energy sources worldwide.

Cau 52.According to the passage ,Why should we consider using alternative energy sourcer?
A.Because fossil fuels are no longer available.

B.Because global warming has increased the amount of sunlight that reaches the earth.

C,Because they are free and avaible worldwide.

D.Because conventional energy sources are being depleted ,and they cause envirronmantal dassge.
Cau 53.According to the passage ,what can be inferred about solar rd tiles?

A.They are being usrd in many underveloped countries.

B.They can convert geothermal power toelectricity.

C.They are more expensive than solar panels . D.They contain photovol aic cells.
Céau 54.According to the passage ,how is solar energy production similar to geothermal energy production?
A.They both require fairly simple technology . B.They both use heat from the earth’s surface.
C.They both require the use of generator . D. They are both conventional and costly.
Cau 55. According to the passage ,which of the following is true about solar power?

A. There is very little of it available in Iceland.

B. There is enough of it to far exceed the energy needs of the world .

C. It is 6,000 times more powerful than energy fromm fossil fuels.

D. It is being used in 100,000 private homes worldwide.

Poc ki doan vin sau va chon phwong an ding 4n ding (A,B,C hoic D)cho méi cau.

Niagara Falls,one of the most famous North American natural wonders,has long been a popular tourist destination
.Tourists today flock to see the two falls that actually constitute Niagara Falls:the 173-foot Horseshoe Falls on the Canadian
side of the Niagara River in the Canadian province of Ontario and the 182-foot high American Falls on the U.S side of the
river in the state of New York .Approximately 85 percent of the water that goes over the falls actually goes over Horseshoe
Falls ,with the rest going over American Falls.

Most visitors comes between April and October ,and it is quite a popylar activity to take a steamer out onto the river
and right up to the base of the falls for a close-up view.It is also possible to get a spectacular view of the falls from the
strategic locations along the Niagara River ,such as Prospect Point or Table Rock,or from one of the four observation towers
which have heights up to 500 feet.

Tourist have been visting Niagara Falls in large numbers since the 1800s;annual visitation now averages above 10
mollion visitors per year.Because of concern that all these tourists would inadvertebtly destroy the natural beauty of this
scenic wonder ,the state of New York in 1885 created Niagara Falls Park in order to protect the land surrounding American
Falls .A yer later Canada creaed Q ueen Victoria Park on the Canadian side of the Niagara ,around Horseshoe Falls .With the
area surrounding the falls under the jurisdiction of government agencies ,apporopiate steps could be taken to preserve the
pristine beauty of the area.

Céu 56. What is the major point that the author is making in this passage?

A. Niagara Falls can be viewed from either the American side or the Cannadian side.

B. A trip to the United States isn’t complete without a visit to Niagara Falls .

C. Niagara Falls has had an interesting history.

D. It has been necessary to Niagara Falls from the many tourist who go there.

Cau 57. The word “flock” in the first paragraph could best be replaced by

A .come by plane. B. come in large numbers

C. come out of boredom D. come without knowing what they will see.
Céau 58. According to the passage ,what which of the following best describes Niagara Falls?
A. Niagara Falls consists of two rivers, one Canadian and the other American.



B. Amerian Falls is considerably higher that Horseshoe Falls.

C. The Niagara River has two falls,one in Canada and one is the United States.

D. Although the Niagara River flows through the United States and Canada, the falls are only in the United States.
Cau 59. A “steamer” in the second paragraph is probably

A. abus B. a boat C. a walkway D. a park

Céau 60. The expression “right up” in the second paragraph could best be replaced by

A. turn to the right B. follow correct procedures C. travel upstream D. all the way up
Cau 61. The passage implies that tourists prefer to

A. visit Niagara Falls during wamer weather B. see the falls from a great distance

C. take a ride cver the falls D. come to Niagara Falls for a winter vacation
Cau 62. According to the passage, why was Niagara park created ?

A. To encourage tourist to visit Niagara Falls B. To show off the natural beauty of Niagara Falls
C. To protect the area around Niagara Falls D. To force Canada to open Queen Victoria Park
Céau 63. The word “jurisdiction” in the last paragraph is closest in meaning to

A. view B.assistance C. taxation D. control
Cau 64. The word “pristine” in the last paragraph is closest in meaning to
A. pure and natural B. highly developed  C. well — regulated D. overused

Cau 65. The paragraph following the passage most probably discusses

A. addition ways to observe the falls

B. step taken by government agencies to protect the falls

C. a detailed description of the division of the falls between the United States and Canada

D. further problems that are destroying the are around the falls

Chon phuong 4an ( A, B, C, hodic D ) ing véi cum tir / tir ¢é gach chin cin phai sira trong cac ciu sau.
Cau 66. The price of petrol has raised so rapidly that we deceided to use the bus,

A B C D
Cau 67. Mike has lived in Machester for a few years and then went to L.ondon.
A B C D
Céau 68. My brother has a French elegant clock which he considers his property.
A B C D

Cau 69. To save the California condor from extinct, a group of federal, local, and private

A B C

organizations initiated a rescue programme.
D

Céau 70. Some languge students have difficulty to express exactly what they want to say.

A B C D

Chon phwong an ( A, B, C, hodic D ) ing véi ciu c6 nghia gin ding nhit so véi mdi cau cho siin sau day.
Cau 71. They don t let anyone enter the area.

A. Nobody is let to enter the area. B. Nobody is allowed to enter the area.
C. Noboby is allowed entering the area. D. The area is not allowed entering.
Cau 72. It may work if you use a new battery.

A. You should try using a new battery. B. Why don’t you try to use a new battery?

C. Use a new battery anh it will work. D. It only works when you use a new battery.

Cau 73. Its no use trying to persuade Tom to change his mind.

A. There’s no point to try to persuade Tom to change his mind.

B. It’s worth trying to persuade Tom to change his mind.

C. It’s useful trying to persuade Tom to change his mind.

D. It’s a waste of time trying to persuade Tom to change his mind.

Cau 74. His story was so funny that it made us all laugh.

A. His story was too funny to laugh. B. His story couldn’t make us laugh.
C. His story was very funny and we couldn’t help laughing. D. We all laughed at him for his story.
Cau 75. I will remember to water the plants.

A. I won’t forget to water the plants. B. I won’t forget watering the plants.
C. I remember watering the plants. D. I promise watering the plants.
Chon phwong an ding ( A, B, C, hoiic D ) dé hoan thanh mdi ciu sau.

Céau 76. No sooner had Tom graduated from university
A. that he was offered a job in a big company.

B. than he was offered a job in a big company.

C. When he was offered a job in a big company.




D. Then he was offered a job in a big company.
Cau 77. It was Neil Armstrong
A. that set foot first on the moon. B. who first set foot on the moon.

C. he fisrt set foot on the moon. D. that was set on the moon first.

Céau 78. It is believed that

A. Harry Porrter by J.K Rowling is the best — selling of the year.

B. Harry Porrter by J. K Rowling to be the best — selling of the year.

C. Harry Porrter by J.K Rowling the best — selling of the year.

D. the best — selling of the year to be Harry Porrter by J.K Rowling.

Cau 79. , he could answer the questions now .

A. If James studied his lessons last night. B. Were James to study his lessons last night.
C. If only James studied his lessons last night. D. Had James studied his lessons last night.
Céau 80. Having retired from word ,
A. social word interests him . B. it is possible for him to engage in social word.
C. Mr Brown devotes all time to social work. D. his interest is social word.




